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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  It's an ~——emeemeee to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

2-  Mr. Baker has decided to move to a big city because of a --------—- of employment
opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth

3- Do you know of an alternate route we could take to ----------— having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using —-------- -
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an - ---- pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to --—---------- its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7- I would like to compliment Jaden for the course of action he recommended because |
think it will - --- our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

8-  An —--—--eeeee= is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==n-mv- it is quite
possible that it began earlier. In September 2018, scientists (13) ------remmm- the
discovery of (14) —==eemmeeeen by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--------- to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The First Law of Thermodynamics told us that energy is conserved. i.e.. the energy
contained in an isolated system (one that does not exchange energy with its
surroundings) cannot change. But this is not the whole story, because it does not place
any restrictions on the direction of a process. For example. one can readily fill a
(constant-volume) combustion chamber with a mixture of methane and air at 300K,
ignite the mixture with a spark. and observe a flame burn the mixture to form carbon
dioxide, water and nitrogen at 2000K. Clearly this does not violate the First Law. But
when was the last time you saw carbon dioxide, water and nitrogen at 2000K in a
chamber spontaneously cool off to form methane and air at 300K? Clearly this does
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16-

17-

18-

19-

not violate the First Law either. since energy is conserved in either the forward or
reverse direction, but you have never seen the reverse process and you never will.

So clearly we need a Second Law of Thermodynamics that places restrictions on
the direction of processes. The Second Law invokes a property of substances called
entropy. which is the measure of the "disorganization" or "randomness" of a substance.
The hotter or less dense a substance is, the less information we have about where the
individual molecules are, and thus the higher its entropy will be. The Second Law can
be stated simply as "The entropy of an isolated system always increases or remains the
same", meaning that the entropy never decreases. The methane-air mixture at 300K
has a lower entropy than the carbon dioxide. water and nitrogen mixture at 2000K. so
only the usual combustion process is physically possible, never the reverse. (Of course
I could take that carbon dioxide. water and nitrogen at 2000K, cool it off to 300K,
break the molecules apart. rearrange them to form methane and air, but to do this I
would need to increase the entropy of the surroundings by more than the entropy
change of combustion. so there would be a net increase in the entropy of the universe.)

It is impossible to create a device that has no effect other than the transfer of heat
from a lower temperature to a higher temperature. If this were not true, then it would
be possible for an object initially at uniform temperature to spontaneously become
hotter on one side and colder on the other—which is obviously a more organized
(lower entropy) state than the original. uniform-temperature object. This statement is
sometimes stated as "heat is always transferred from hot to cold. never the reverse"
—which is only a requirement if there is no other effect. Obviously a refrigerator
transfers heat from a lower temperature (vour food and drink) to a higher temperature
(the air in your kitchen) but it has other effects too—namely there is a work input to
the process.

The second paragraph mainly discusses -----eeseeeeeee,

1) entropy 2) randomness

3) disorganization 4) direction of processes

We understand from the passage that the shortcoming of the First Law of Thermodynamics
is that —=-meeeeeeeee,

1) energy is conserved in the reverse direction

2) it does not concern the direction of process

3) energy is contained in an isolated system

4) there is no energy exchange with the surroundings

According to the second paragraph, a major factor deciding entropy is ---------eeee- .

1) input 2) density 3) medium 4) direction

We understand from the third paragraph that uniform-temperature objects have
mmmmmemeememeee ENETOPY.

1) lower 2) decreasing 3) higher 4) constant
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The word "which" in paragraph 3 refers to -———-eeeeeeev -

1) heat

2) the reverse

3) there is no other effect

4) heat is always transferred from hot to cold, never the reverse

PASSAGE 2:

We are accustomed to the notion of friction as a force that is exerted opposite to that
which brings about motion when one solid moves in contact with another. There is
also friction where a solid moves through a fluid. as when a ship plows through water.
This friction arises from the fact that it is necessary to expend energy to pull the water
apart against its own cohesive forces in order to make room for the ship or other
objects to pass through.

The friction is also evident when the liquid itself is the only substance involved.
When a liquid moves, it does not move all-in-one-piece as a solid does. Instead, a
given portion will move relative to a neighboring portion, and an "internal friction"
between these two portions will counter the motion. This is what makes some liquids
slow-pouring. A slow-pouring liquid is said to be "viscous". The internal friction that
determines the manner in which a liquid will pour is called viscosity. The pressure of a
liquid falls as its viscosity increases.

Internal friction
1) makes liquids viscous

2) makes liquids move faster in tubes

3) occurs when a solid moves through a fluid

4) occurs when a solid moves in contact with another

The example given in the first paragraph is intended to —-eeeeeeeeeee,

1) describe how water is pulled apart against its own cohesive forces

2) illustrate the friction force when a solid moves through a fluid

3) show how a ship can be made to move faster through water

4) show how a solid moves in contact with another

We understand from paragraph 2 that -——--eeereeeee

1) the pressure of a liquid rises with its increasing VlS(.ObIl}

2) the pressure of a liquid declines with its decreasing viscosity

3) the viscosity of a liquid is directly proportional to its pressure

4) the viscosity of a liquid is inversely proportional to its pressure

The underlined "that" in the first line of paragraph 1 refers to —------mueee-- ,
1) force 2) notion 3) motion 4) friction
It is true that --—-eeeeeeeeeee,

1) friction is the force created by the cohesive forces of liquids

2) solids need no energy to be expended to set them moving

3) slow-pouring liquids possess high cohesive forces

4) not all portions of a liquid offer internal friction
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30-

PASSAGE 3:

A few degrees of warming over the coming decades could trigger a series of extreme
and fatal heat waves. So, indeed the global temperature rise is a very serious and an
important issue. A slight rise in the temperature could have catastrophic results.

In recent years. the number of deaths has skyrocketed as a result of extreme heat on
the subcontinent, according to a new study. The uptick in extreme heat waves was
caused by a 0.5-degree-Celsius rise in mean temperature over recent decades,
researchers found. During that period. subtly climbing temperatures meant an extreme

heat wave was more than 11 times as likely to occur and to kill at least 100 people.

Hence if all the countries adhere to the Paris Agreement, then a small reduction is
expected in the global temperatures. which will make a huge difference. The
agreement, signed by 195 countries. is intended to reduce carbon dioxide emissions. a
primary driver of climate change.

But, Western governments admit that they tend to have a negative impact on the
global warming! So, by pulling out from the Paris Climate accord, they have simply
chosen to ignore the scientific findings. Instead of helping the developing nations in
this mission, they have chosen to stay away from the entire pact—indeed a terrible
diplomatic behavior.

The word "skyrocketed" in the first line of paragraph 2 can be substituted by ------=-=n--,
1) highly increased 2) noticeably emerged

3) sharply declined 4) specially designed

The countries, according to the passage, can make a huge difference by —----eeeeeeeee ,

1) heating the continent 2) protesting against France

3) adhering to the Paris agreement 4) triggering catastrophic results

The mission implied in the last paragraph is '

1) pursuing terrible diplomacy 2) proposing a new study

3) pulling out of the Paris agreement 4) reducing global temperature

With what subject is the passage mainly concerned?

1) Negative outcomes of global warming

2) Developing nations needing help

3) Terrible west diplomacy

4) Adhering to scientific findings

Based on the information given in the passage, the smallest increase in global temperate

1) causes some heat waves

2) leads to terrible consequences

3) kills at least 100 people

4) decreases carbon dioxide emissions
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